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Learning Unit：Measures of Central Tendency – Finding Mean, Median and Mode
Finding Mean, Median and Mode

1.
One set of data：

	0,
	4,
	4,
	4,
	5,
	5,
	6,
	7,
	7,
	9,
	9


Find out the mean (correct your answer to two decimal places), median and mode for this set of data。

(a)Mean
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(b) Median =
(c) Mode =
2.
A shooter fired 16 shots.  The scores are as follows: 

	8,
	9,
	
10,
	10,
	8,
	9,
	8,
	9,
	9,

	8,
	9,
	9,
	9,
	8,
	10,
	9,
	9,
	8



Find out the mode of the shooter’s scores:





Mode =
3. The heights of seven basketball players are 182 cm, 195 cm, 184 cm, 198 cm, 180 cm, 192 cm and 191 cm respectively.  What is their average height?  (Correct your answer to the nearest integer.)
Average Height =




=

4. In a gymnastics competition, six judges give scores for the completed moves of athletes.  The final score of an athlete is the median of the six scores obtained.  The scores of 6 judges for an athlete are as follows:

	9.54,
	9.27,
	9.38,
	9.98,
	9.70,
	9.66



Find out the athlete’s score:




The athlete’s score =

5. The vision test results for 70 students of a school are as follows: 

	Degree of short-sightedness (
[image: image2.wmf])

O


	200
	250
	300
	350
	400 or above

	Number of students
	5
	7
	26
	26
	6


Find out the mode of the degree of short-sightedness of the students: 

Learning Unit：Measures of Central Tendency – Finding Mean, Median and Mode
Finding Mean, Median and Mode (Answers)
1.
One set of data：

	0,
	4,
	4,
	4,
	5,
	5,
	6,
	7,
	7,
	9,
	9


Find out the mean (correct your answer to two decimal places), median and mode for this set of data。

(a) Mean
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=5.45 (correct to two decimal places)
(b)
Median = 5
(c)
Mode = 4
2.
A shooter fired 16 shots.  The scores are as follows:
	8,
	9,
	10,
	10,
	8,
	9,
	8,
	9,
	9,

	8,
	9,
	9,
	9,
	8,
	10,
	9,
	9,
	8



Find out the mode of the shooter’s scores:





Mode = 9
3. The heights of seven basketball players are 182 cm, 195 cm, 184 cm, 198 cm, 180 cm, 192 cm and 191 cm respectively.  What is their average height?  (Correct your answer to the nearest integer.)
Average Height =
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=189 cm (corrected to the nearest integer)
4.
In a gymnastics competition, six judges give scores for the completed moves of athletes.  The final score of an athlete is the median of the six scores obtained.  The scores of 6 judges for an athlete are as follows:

	9.54,
	9.27,
	9.38,
	9.98,
	9.70,
	9.66



Find out the athlete’s score:




The athlete’s score =
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5.
The vision test results for 70 students in a school are as follows:

	Degree of short-sightedness (
[image: image7.wmf])

O


	200
	250
	300
	350
	400 or above

	Number of students
	5
	7
	26
	26
	6


Find out the mode of the degree of short-sightedness of the students:




The modes are 300˚ and 350˚.
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